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QUESTION 1

What information can be found in the SAS Dictionary tables? (Choose two.)
A. datasets contained within a specified library

B. values contained within a specified format

C. variables contained within a specified dataset

D. values contained within a specified variable

Correct Answer: AC

QUESTION 2

A SAS program is submitted and the following log is written.

893 data WORK.CHECEVISITS:

8294 set WORE.VISITS (keep=PATID YISDTO VISDT1 VISDTZ VISDT3 VISDT4Y):
=111 array VISDT(1:4):

= 1=13 do -i=1 to 4;

a97 if VISDT(i) ?VWISDT(1-1) gt 10 then output;
g9 end;
8599 run;

ERROR: Array subscrlpt out ol range at iine 897 colwasn 21.

What is the cause of this error message?

A. The ARRAY declaration is syntactically incorrect.

B. The IF statement is syntactically incorrect.

C. The DO loop tries to get a value from a variable which does not exist.
D. The IF statement tries to get ARRAY elements which are not declared.

Correct Answer: D

QUESTION 3

The following question will ask you to provide a line of missing code.
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proc Sort dacasone ouLstwo:
by =subjid:;
run;

data two,
set CWo;

<ansert code heres>
if (firsc.=zubjid ne 1 or lsst.subjid ne 1) then outpuc ;
run

The following program is submitted to output observations from data set ONE that have more than one record per
patient.

In the space below, enter the line of code that will correctly complete the program (Case is ignored. Do not add leading
or trailing spaces to your answer.).

Correct Answer: BYSUBJID

QUESTION 4

The following SAS program is submitted: How many data sets are created and how many observations are in the data
set(s)?

ods oucput ChiSgimscch all) = WORE.PVALUES (where=(statistic eq 'Chi-Sguare'}))
proc freq data=WORE.ENDPT:
tebles ENDPT1 * TREAT / chisig:
tables ENDPRTE 7 TREAT / chisg:
Cun;
od3 output close :

A. 1 data set named PVALUES with 1 observation.

B. 1 data set named PVALUES with 2 observations.

C. 2 data sets named PVALUES and PVALUES1 each with 1 observation.
D. 2 data sets named PVALUES1 and PVALUES?2 each with 2 observations

Correct Answer: C
QUESTION 5

This question will ask you to provide a line of missing code.

The following SAS program is submitted:
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prog¢ freq dava=dise:
Linsart code heres
Eun;

to create the following output:

The FREQ Frocedure
Table of site By group

=ite group

Frequency|

Percent |

Row Pet | Tecl | Tec2 | Tce3 | Total
t et 8 e e +

SITEL | 15 | S6 | 172 | 243
| 2.80 | 10.47 | 32.15 | 45.42
| 6.17 | 23.05 | 0.78 |

————————— e ———t e e

SITEBE | 24 | 74 | 194 | 292
| 4.49 | 13.83 | 36.26 | 54.58
[ 8.22 | 25.34 | 66.44 |

B et Fmm—mmmm— Femmm— === +

Total a9 130 A66 535

T7.29 24,30 68.41 iobo.oo

Which statement is required to produce this output?

A. TABLES site*group /nocol,

B. TABLES site*group /norow;

C. TABLES site*group;

D. TABLES site*group /nocol norow;D. TABLES site*group /nocol norow;

Correct Answer: A
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